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= 143,000
Al 77,000
LoI2S S A 31,200 31,200 0
201 28t=3d| 1,200 1,200 0
02 S5=4H| 1,200 1,200
LOIES S HNAIE MRS 1,200




SA: DED
. TZIHIAE &5
Rl AMDRASEEZE ol J (St M 2l)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
401 AIZHIZL S0 30,000 30,000
01 Al2HI 30,000 30,000
Lol2S 7Y JHM 30,000
OISR HE(EX) (HEAI) 200,000 0 200,000
= 100,000
Al 100,000
401 AIZHIZ 20| 200,000 0 200,000
= 100,000
Al 100,000
01 Al&H] 200,000 0 200,000
LolIES S M 200,000
& 100,000
Al 100,000
l2g"EsS 2l 1,550,900 1,542,900 8,000
AIEE OI2S 28 2 1,550,900 1,542,900 8,000
hz2s 2=XE 1,540,900 1,532,900 8,000
201 28t=3| 586,300 476,300 110,000
01 At22tel] 34,000 29,000 5,000
& ot=SH| 3,400
dHE o2t 2,500
HoEHE M)A oM 2RI 11,000
2SEs L=l 2,400
I2s 2XE sd= 2,000
EAFMZ2 Y HOI0IEH| 1,000
CRAH2ALIAAE 0S WA 5,000
tZ(2ehHE EIHHED RFHIES 1,820
T2 ZEACNAE RS2 4,880
02 S5=4H| 552,300 447,300 105,000
2SS 2K RAEF 17,000
Hz(2ehs Mes 490,000
deltg &ks 30,000
Q= 10,300
ANEEHIKXH 5,000
202 04| 9,600 9,600 0
01 =LHOHI 9,600 9,600 0
I2s 2K S04 9,600
206 M= Hl 230,000 230,000
01 H=H] 230,000 230,000
H2(LH)S 2+ M 180,000
t2sS gge 820! 2 WX 50,000
401 AIZHIZ 20| 715,000 655,000 60,000
01 Al&H] 715,000 655,000 60,000
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76,700
76,700
76,700
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70,000
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70,000
20,000
30,000
30,000
20,000
20,000
20,000
60,000
30,000
30,000
25,000
50,000

50,000
20,000
50,000
20,000
10,000
10,000
10,000
10,000
76,700
76,700
76,700
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o
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=
__o._

01 AlR-2teld

=3

1,750,000 128

KAl

AN&EZHISFAIY

202 044l

al
=

o

22

[0

Jl=34]

o
110

25,000
25,000
4,800
4,800

1,000
25,000
25,000
25,000

4,800

4,800

01 =LHAY
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-

KIo

Hlw

PIE]=>
e

4,800
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